$$\frac{d}{dt} \mathcal{Y}(t), \quad \frac{d^2}{4t^2} \mathcal{Y}(t), \quad \frac{d^2}{4t^n} \mathcal{Y}(t).$$

$$D = \frac{d}{dt}, \quad g'(t) = Dy.$$

$$y''(t) = D^2 y$$
, $y^{(n)}(t) = D^n y$.

Linean differential equations:

$$E_X: \qquad y''(t) + 2y'(t) + y(t) = 0.$$

$$y''(t) + 2y'(t) + y(t) = 5in t.$$

General form: $Q_0(t) \cdot y^{(n)}(t) + Q_1(t) \cdot y^{(n-1)}(t) + \cdots$ divide $Q_0(t) + Q_n(t) \cdot y(t) = F(t)$. on born sides if $Q_0(t) \neq 0$.

(pool : Solve this equation
With initial condition

$$y^{(n-1)}(t_{0}) = C_{1}, \quad y^{(n-2)}(t_{0}) = C_{2}, \quad \cdots \quad y(t_{0}) = C_{0}.$$
This is called initial value problem.
Usually we focus on $a_{0}(t) = 1$.
(Defn) Linut differential expendent of order n .

$$L = D^{n} + a_{1}(t) D^{n-1} + a_{2}(t_{0}) D^{n-2} + \cdots + a_{n}(t_{0})$$

$$Ly = (y^{(n)})^{n} + a_{1}(t_{0}) y^{(n-1)} + \cdots + a_{n}(t_{0}) y^{(n-1)} + a_{n}(t_{0}) y^{(n-1)} + \cdots + a_{n}(t_{0}) y^{(n-1)} + a_{n}(t_{0}) y^{(n-1)} + \cdots + a_{n}(t_{0}) y^{(n-1)} + a_{n$$

(ompere (A) with
$$A = b$$
.
First view L as a linear transformation.
 $V = \{flow (trans of t with derivatives of all orders $flow (transformation from V to V)$.
 L is a linear transformation from V to V
 $L = D^2 + 2D + 1$.
 $L: V \longrightarrow V$.
 $Ytts \longmapsto L(y(ts)) = Y''(ts) + Y(ts)$
Check: L is a linear transformation.
 $L(y, tyr) = Ly(t) + Ly_2$.
 $L(c,y) = C \cdot Ly$.$

7 a day: (D. homogeneous equation.

$$L y = 0$$

$$Ex: L = D^{2} + 2D + 1.$$

$$Y''(t) + Y'(t) + Y(t) = 0$$

$$\frac{Y'' + 2t y' + 3t^{2}y = 0}{Y'' + 2t y' + 3t^{2}y = 0}$$
Black Box Theorem: (A) Ly = F(t)
(Existence + ubigneness).
(Existence + ubigneness).
(Existence + ubigneness).
(Existence + ubigneness).
(F) has a ubigne solution for any fixed
initial (-n ditions

$$Y^{(h-1)}(t) = C_{1} + Y^{(n-2)}(t) = C_{2},$$

$$\cdots + Y(t_{0}) = C_{n}.$$

$$bur L is 1-dim'(both basis fetry.$$

$$b) L = D^{2} - 4$$

$$Ly = y''(t) - 4y(t) = 0.$$

$$Assume y(t) = e^{rt} (t) finity.$$

$$Dy = re^{rt}, D^{2}y = re^{rt}$$

$$r'e^{rt} - 4e^{rt} = 0. =) r^{2} = 4.$$

$$r = t2, \quad y_{1}(t) = e^{2t}$$

$$y_{2}(t) = e^{-2t}.$$

$$f y_{1}, y_{2}^{L} is (invershy indepent 6(t)).$$

$$any solution has the form
$$y(t) = c_{1}e^{-2t}.$$$$

Wronsbian (Method to prove functions are
linearly in dependent)

$$y_1(t), y_2(t).$$

 $\begin{cases} C_1y_1(t) + (Ly_2(t)) = 0 \\ C_1y_1' + (Ly_2(t)) = 0 \\ C_1y_1' + (Ly_2') = 0 \\ \end{cases}$
 $\begin{pmatrix} y_1 & y_2 \\ y_1' & y_2' \\ \end{bmatrix} = \begin{bmatrix} C_1 \\ C_2 \\ \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ \end{bmatrix}.$
Wronsbian = $\begin{cases} y_1 & y_2 \\ y_1' & y_2' \\ \end{bmatrix} = W(y_1, y_2)$
If $W(y_1, y_2) \neq 0$, then $y_1, y_2 y_1$ is
linearly independent. for some t .
Ex: $y_1(t) = e^{2t}, y_2 = e^{-2t}$
 $W(y_1, y_2) = \begin{vmatrix} e^{2t} \\ 2e^{2t} \\ -2e^{2t} \end{vmatrix} = -2 - 2 = -y$
Fo.

c).
$$L = D^2 + 4$$
.
 $Ly = y'' + 4y = 0$.
Assume $y(t) = e^{rt}$

$$y'' = r^{2} e^{rt}$$

$$r^{2} e^{rt} + y e^{rt} = 0$$

$$\frac{r^{2} + y = 0}{r^{2} + y = 0}, r^{2} = -y, \qquad \text{imaginary manden},$$

$$r = t\sqrt{-y} = t2\sqrt{-1}, \qquad 1 = \sqrt{-1},$$

$$tn(tr's formula, \qquad e^{\sqrt{-1}\theta} = \cos\theta + \sqrt{-1}\sin\theta,$$

$$y_{1}(t) = e^{2\sqrt{-1}t} = \cos\theta + \sqrt{-1}\sin\theta,$$

$$y_{1}(t) = e^{-2\sqrt{-1}t} = \cos(-2t) + \sqrt{-1}\sin(-2t),$$

$$= \cos^{-2}t - \sqrt{-1}\sin^{-2}t,$$

$$tn(t) = e^{-2\sqrt{-1}t} = \cos^{-2}t + \sqrt{-1}\sin^{-2}t,$$

$$= \cos^{-2}t + \sqrt{-1}\sin^{-2}t,$$

$$Wal solutions.$$

$$\int V S 2f = \frac{y_1 + y_2}{2}$$

$$\int sin 2f = \frac{y_1 - y_2}{2\sqrt{-1}}$$

$$Next: W(1052t, sin 2t) = \begin{cases} us2t sin 2t \\ x \\ -2 sin 2t + 2 us2t \end{cases}$$

$$= 2(1012t)^{2} + 2(5in2t)^{2} = 2 \neq 6$$

$$\begin{cases} 1002t \cdot (in2t)^{2} & |inally| (independent) \\ hence basis of both L
\\ general solution. \\ hence basis of both L
\\ general solution. \\ general$$

Check
$$T$$
 is a linear transformation.
 $H_{k} - Numlinky Thm:$
 $dim har L = dim har T + dim limage T.$
 $(D dim har T. her T = 5 y | Ly = 0 y$
 $Ly = 0$
 $(JH_{0})=0, y'H_{0})=0, \dots, y'^{(n-1)}(t_{0})=0.$
 $har T = f_{0}f$. $dim = 0$
 $(2 dim limage T.$
 $b(ack box Ham (Existenu))$
For any initial ion ditions
 $J(t_{0}), y'(t_{0}) - \dots y^{(n-1)}(t_{0})$
Hare exists $y(t)$. $L(y)=0.$
 $=) limage T = 12^{4}, dim = n.$